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Constdering the circuit below, find the current Io flowing through the resistor
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a) 0.667 A
b) 1.000 A
B LSRR
d) 2.000 A

e} None of the above

3. Find the equivalent resistance R, in the circuit below. Each resistor is 100 Q
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Nong of the above
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4. Determine Vo in the figure, assuming an | 5V 5k0
ideal op amp.

a) 15V 2 kO
b) 5V r

¢y &V
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e) None of the above 0V
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In the circuit below R is a variable resistor. For what value of R the maximum
power is transferred (o it.

a) 500

b) 1000

c) 15089

d) 2500

e) None of the above

6. Find { in the circuit below.
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a) 64 A
b) 48 A
gl 25 A
73k
e) None of the above
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A load resistance R in the range of [1,8] Q is to be connected across the terminais
a.b In such a way that maximum power is delivered io it. Determine the power

dissipated by R.
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a) 1058 W
b) 417 W
c) 595 W
d) 826 W
e) None of the above

8. Find the equivalent resistance between the terminals (a,b).
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a) 4500
b} 2250
c) 1250
d) 80 Q
¢) None of the above




9. Calculate the voltage Vo across the 6 Q resistor due o the 36 V source only.
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a) 15V
by 12V
¢y I8V
dy 3V
e) None of the above

For the circuit shown, find the Thevenin voitage seen by terminals b-d.

a) 1V

b) 1.5V

©) 2V

d) 2 5V

e} None of the above
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In problem 10, find the Thevenin resistance seen by terminals b-d:
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~0.620

~1.60

~1.10

d)y ~0.930

e} None of the above
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- For the circuit shown, find the Thevenin resistance seen by terminals a-b.
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13. In problem 12. find the Thevenis voltage seen by terminals b-d.

a 10V
by 20N
c) SOV
d) 40V
e) None of the above
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